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B Winro= -3.8

:l» FRAME )l S9n

Wint.

. Load (KN/m)
Grid Space @ X W, W,

1 6 0 3.8 -3.8

2 6 6 3.8 -3.8

3 6 12 3.8 -3.8

4 6 18 3.8 -3.8

5 6 24 3.8 -3.8
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pP= queCthCpCd kN/m2
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1 1E 2 2E 3 3E 4 4E
0.382 0.579 -0.581 -0.893 -0.350 -0.503 -0.293 -0.432
i FRAME » oly o
WXp-1
Grid Space @ X Load (KN/m)
1&1E 2 &2E 3&3E 4 & 4E
1 6 0 1.7 -2.7 -1.5 -1.3
2 6 6 2.9 -4.4 -2.6 -2.2
3 6 12 2.3 -3.5 -2.1 -1.8
4 6 18 2.3 -3.5 -2.1 -1.8
5 0 24 1.1 -1.7 -1.1 -0.9

9-10-6




ol ool Ja b lge 3b gz

e

i sl p dges Ol Gy

4550 0058 Olaislus pb (ulyll Jas- b (g0 Ok gz )3 (Sl )b ol o Sy €€ M

FIGURE 6-10-2

1 1E 2 2E 3 3E 4 4E
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:l» FRAME 5 )l S9n
WYp-1
Grid Space @X Load (KN/m)
1&1E 2 &2E 3&3E 4 & AE
1 6 0 -1.2 -2.7 -1.3 -1.2
2 6 6 -2.3 -4.4 -2.3 -2.3
3 6 12 -2.3 -3.5 -1.9 -2.3
4 6 18 -2.3 -3.5 -1.9 -2.3
5 0 24 -1.1 -1.7 -0.9 -1.1




